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 A J 9 8 

 K J 5 

 A J 7 5 

 9 3 

 10 5  6 2 

 10 8 7 4 3  Q 9 6 

 10 8 2  K Q 9 4 3 

 Q 10 2  J 5 4 

 K Q 7 4 3 

 A 2 

 6 

 A K 8 7 6 
HCP  Makeable contracts 

         NT 

 14   N 6 3 3 7 5 

2  8  S 6 3 3 7 4 

 16   E - - - - - 

    W - - - - - 
 

Board 1 : Dealer North : Love all 

West North East South 

 1NT Pass 2 

Pass 3 Pass 4NT 

Pass 5 Pass 7 

All Pass 

 

3 is a ‘Transfer Break’ showing 14 HCP, 4 spades and a 

doubleton club. 

The key to bidding this excellent Grand Slam is hearing that 

North has 4 card spade support.  North shows her 4-card spade 

support by ‘breaking the transfer’ and bidding the suit where 

she has a doubleton. 

When South then learns that North has the A and A she can 

practically count 13 tricks. 

 

 

 7 5 

 J 10 95 

 A 9 6 5 4 3 

  8 

 9 8  K J 3 

 K  2  Q 7 4 3 

 8 7  K Q 2 

 A Q 97 6 4 3  K 5 2 

 A Q 10 6 4 2 

 A 8 6 

 J 10 

 J 10 
HCP  Makeable contracts 

         NT 

 5   N - 2 - 1 - 

9  14  S - 2 - 1 - 

 12   E 3 - 1 - 2 

    W 3 - 1 - 2 
 

Board 2 : Dealer East : NS vulnerable 

West North East South 

  1NT 2 

2NT Pass 3 All Pass 

 

2NT is the Lebensohl Convention asking partner to bid 3C 

(showing various types of hands) but in this case a weak hand 

with clubs. 

West wants to play in a partscore of 3 and she can arrange 

this by using 2NT as a ‘Lebensohl’ bid …. Opener must bid 3C 

and now West passes. 
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 9 6 

 K 4 

 K Q 10 9 7 

 A K Q 6 

 A K Q  10 8 7 5 2 

 A 3  7 5 2 

 A 8 6 3  5 4 2 

 9 7 4 3  5 2 

 J 4 3 

 Q J 10 9 8 6 

 J 

 J 10 8 
HCP  Makeable contracts 

         NT 

 17   N 3 3 2 - 2 

17  0  S 3 3 2 - 2 

 6   E - - - 1 - 

    W - - - 1 - 
 

Board 3 : Dealer South : EW vulnerable 

West North East South 

   2 

2NT 3 All Pass 

 

This might be more competitive at some tables – with 4 

doubled and even 4 doubled being likely contracts.  However 

once West makes some strong noises, N/S should be 

discouraged from getting too high. 

 

4 goes 3 off on routine defence while South should be held to 

8 tricks in a heart contract.  However the winning defence by 

West of switching to a low trump after leading the A will not 

be obvious to most and declarer will end up with 9 tricks at 

quite a few tables. 

 

 

 4 

 9 4 3 2 

 J 10 9 6 2 

 J 6 3 

 A 10 7 6  K Q 3 2 

 K 8  A Q J 7 5 

 A 5  K Q 

 K Q 7 5 4  10 8 

 J 9 8 5 

 10 6 

 8 7 4 3 

 A 9 2 
HCP  Makeable contracts 

         NT 

 2   N - - - - - 

16  17  S - - - - - 

 5   E 5 2 6 6 6 

    W 5 2 6 6 6 
 

Board 4 : Dealer West : All vulnerable 

West North East South 

1 Pass 1 Pass 

1 Pass 4NT Pass 

5 Pass 6 All Pass 

 

The only threat to this slam is a 4-1 trump break.  Declarer needs 

to cash K and Q first so that he can handle the 4-1 spade 

break.  If North has 4 spades then there nothing that declarer 

can do. 

Similarly if you end up in a game contract, you need to try for 

12 tricks and that means starting your spades by play KQ first. 

Note the bidding too – it is advisable not to jump shift when you 

have 2 suits to bid – so a simple 1 response by East is 

recommended. 
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 8 6 

 A Q 2 

 A K 4 3 

 J 6 5 3 

 10 7  A K Q 5 4 3 

 10 9 7  8 6 3 

 Q 10 9 8 2  J 7 

 10 7 2  8 4 

 J 9 2 

 K J 5 4 

 6 5 

 A K Q 9 
HCP  Makeable contracts 

         NT 

 14   N 5 2 4 1 1 

2  10  S 5 2 4 1 1 

 14   E - - - - - 

    W - - - - - 
 

Board 5 : Dealer North : NS vulnerable 

West North East South 

 1NT 2 3 

Pass 4 All Pass 

 

3 is part of the Lebensohl Convention showing 4 hearts and 

denying a spade stopper (2NT first followed by 3 would show 

4 hearts and a spade stopper). 

 

North knows not to bid 3NT so he bids anything else and 4 is 

as good as any. 

 

 

 9 

 A Q 10 9 8 7 

 J 8 

 J 7 5 4 

 7 4  A Q J 6 5 3 2 

 K J 6 5  4 3 

 A Q 10  9 6 3 

 A K Q 8  10 

 K 10 8 

 2 

 K 7 5 4 2 

 9 6 3 2 
HCP  Makeable contracts 

         NT 

 8   N - - - - - 

19  7  S - - - - - 

 6   E 1 1 2 3 3 

    W 1 2 2 4 3 
 

Board 6 : Dealer East : EW vulnerable 

West North East South 

  3 Pass 

4 All Pass 

 

Yes 3NT is a nice bid by West but 4 is a reasonable shot too 

knowing that you most likely have a 9-card spade fit. 

 

South leads his singleton heart and North takes 2 heart tricks 

and then leads a third heart.  Declarer will probably ruff the 

third heart with the Q or J and South can guarantee himself 

2 trump tricks and defeat of the contract if he refuses to over-

ruff! 

If South over-ruffs the Q with his K that will be the third and 

last trick for the defence. 
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 K 10 8 3 

 8 7 3 

 A 6 

 A K 9 4 

 J 7  6 5 2 

 A K J 10 9 4  Q 5 

 3 2  J 10 9 5 4 

 7 6 5  Q 8 2 

 A Q 9 4 

 6 2 

 K Q 8 7 

 J 10 3 
 

HCP  Makeable contracts 

         NT 

 14   N 4 3 - 4 1 

9  5  S 4 2 - 4 1 

 12   E - - 1 - - 

    W - - 1 - - 
 

Board 7 : Dealer South : All vulnerable 

West North East South 

   1NT 

2 3 Pass 3 

Pass 4 All Pass 

 

3 is part of the Lebensohl Convention showing 4 spades and 

denying a heart stopper (2NT first followed by 3 would show 

4 spades and a heart stopper). 

 

South bids 3 and North with his maximum can raise to 4. 

 

 

 3 2 

 A K 9 3 

 9 8 2 

 A Q 6 5 

 A Q 10 9 8 6 4  K J 5 

 10 5  J 6 

 7 6  A K Q J 10 

 K 4  J 8 2 

 7 

 Q 8 7 4 2 

 5 4 3 

 10 9 7 3 
HCP  Makeable contracts 

         NT 

 13   N 2 - 2 - - 

9  16  S 2 - 2 - - 

 2   E - 3 - 3 - 

    W - 3 - 3 - 
 

Board 8 : Dealer West : Love all 

West North East South 

2 Dbl 4 All Pass 

North leads A and South encourages to show the Queen. 

 

North now underleads his K at trick 2 to South’s Q and 

South switches to 10.  Ouch for declarer. 

 

4-1. 
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 A 7 5 4 

 2 

 A K 3 2 

 5 4 3 2 

 10 9  K 8 

 A 9 7 6 5  K J 10 8 

 Q J  9 8 5 

 A Q J 7  K 10 9 8 

 Q J 6 3 2 

 Q 4 3 

 10 7 6 4 

 6 
HCP  Makeable contracts 

         NT 

 11   N - 3 - 4 - 

14  10  S - 3 - 4 - 

 5   E 4 - 4 - 2 

    W 4 - 4 - 2 
 

Board 9 : Dealer North : EW vulnerable 

West North East South 

 Pass Pass Pass 

1 Dbl 3 Pass 

4 All Pass 

 

North leads AK and a third diamond ruffed by declarer. 

 

In order to make the contract, declarer needs North to have the 

A and if North has the A then he will not have the Q 

because he passed as dealer. 

 

So declarer places the A in North and the Q in South and 

plays accordingly by playing a heart to the king in dummy and 

running the J from dummy and letting it run if South does not 

cover (and South should not cover). 

 

 

 10 5 4 3 

 A 10 

 Q 7 

 K Q J 10 2 

 Q J 7 6  A K 9 8 

 9  J 7 6 4 2 

 K 6 2  A 4 3 

 A 6 5 4 3  9 

 2 

 K Q 8 5 3 

 J 10 9 8 5 

 8 7 
HCP  Makeable contracts 

         NT 

 12   N - - - - - 

10  12  S - - - - - 

 6   E 1 1 1 3 1 

    W 1 1 1 3 1 
 

Board 10 : Dealer East : All vulnerable 

West North East South 

  1 Pass 

1 2 3 Pass 

4 All Pass 

 

If North leads a trump then 4 will go down one – but the K 

looks like a more natural lead and now if declarer exits on a 

heart and then cashes the ace and king of diamonds as early as 

possible then declarer can cross-ruff the hand and make 10 

tricks – by taking a trick with each of her 6 remaining trumps. 

 

Declarer makes 1 club, 2 diamonds, one round of trumps and 

then 1 trick with each of her 6 remaining trumps by means of a 

cross-ruff (ruffing clubs in dummy and hearts in her hand). 
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 A 9 8 7 

 A 10 8 7 4 

 - 

 J 10 9 8 

 10 2  4 3 

 9 6  J 5 3 2 

 A J 9 8 3  K Q 6 5 4 

 7 4 3 2  6 5 

 K Q J 6 5 

 K Q 

 10 7 2 

 A K Q 
HCP  Makeable contracts 

         NT 

 9   N 5 - 6 7 2 

5  6  S 5 - 6 7 2 

 20   E - 1 - - - 

    W - 1 - - - 
 

Board 11 : Dealer South : Love all 

West North East South 

   1 

Pass 2 Pass 2NT 

Pass 4 Pass 4NT 

Pass 5NT Pass 6 

Pass               7                 All Pass 

 

Ok the bidding is suspect and even getting to 6 might be a 

good board.  5NT shows 2 key cards and a useful void ie a void 

in clubs or diamonds. 

  

6 asks North to bid the ‘Grand’ if his void is in Diamonds. 

 

There are millions of tricks available so there is no excuse for 

not making at least 13 of them. 

 

 

 

 10 4 3 

 Q 10 7 

 J 10 8 4 

 4 3 2 

 A K J 6 5  Q 

 K 8 6 5  A J 9 4 3 2 

 9  Q 6 

 A Q J  K 7 6 5 

 9 8 7 2 

 - 

 A K 7 5 3 2 

 10 9 8 
HCP  Makeable contracts 

         NT 

 3   N - - - - - 

18  12  S - - - - - 

 7   E 6 - 6 6 1 

    W 5 - 6 5 1 
 

Board 12 : Dealer West : NS vulnerable 

West North East South 

1 Pass 2 Pass 

4 Pass 4NT Pass 

5 Pass 6 All Pass 

 

North leads J and declarer ruffs the second round.  If trumps 

are 2-1 then declarer cannot go wrong and if trumps are 3-0 

with South having all 3 then declarer cannot go right. 

 

If trumps are 3-0 with North having all 3 then declarer needs to 

cash the K on the first round so that he will still have AJ sitting 

over North’s queen. 
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 Q 9 7 5 

 J 7 4 

 K J 9 8 

 A K 

 A J 2  K 10 8 4 

 10 8 6 3  9 5 2 

 A 7 4  6 3 

 Q 10 3  8 6 5 4 

 6 3 

 A K Q 

 Q 10 5 2 

 J 9 7 2 
HCP  Makeable contracts 

         NT 

 14   N 1 4 1 1 2 

11  3  S 1 4 1 1 2 

 12   E - - - - - 

    W - - - - - 
 

Board 13 : Dealer North : All vulnerable 

West North East South 

 1NT Pass 2NT 

Pass 3NT All Pass 

 

East leads 4.  West wins with the ace and returns the jack 

covered by the queen. 

 

This should tell East that declarer has the 97 remaining and 

that in order to win 4 spade tricks, East needs to get West in to 

lead a third round of spades through declarer.  So East wins trick 

2 with K and then leads 6 to West’s ace and West returns his 

last spade – the defence win the first 5 tricks. 

 

If West had 4 spades AJ97 then he would have won the ace and 

returned his original 4th best (the 7).   

 

Well done if you got this defence right….top of the class! 

 

 7 

 A Q 10 2 

 K 9 8 3 2 

 9 4 2 

 Q 10 9  A J 8 6 4 2 

 K 8 3  6 5 4 

 A J 4  7 

 K Q J 10  A 8 6 

 K 5 3 

 J 9 7 

 Q 10 6 5 

 7 5 3 
HCP  Makeable contracts 

         NT 

 9   N - 2 - - - 

16  9  S - 2 - - - 

 6   E 2 - - 3 - 

    W 3 - 1 3 - 
 

Board 14 : Dealer East : Love all 

West North East South 

  2 Pass 

4 All Pass 

 

South leads 5 but when he gets back in with the K he knows 

to switch to the J or 9 – the only chance of tricks for the 

defence is in the heart suit and now 4-1. 
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 7 6 

 K Q 9 5 

 J 10 4 

 A 9 5 4 

 K J 8 4 2  Q 10 5 

 8 3  10 7 6 2 

 K 7 2  9 8 5 3 

 Q 8 6  J 2 

 A 9 3 

 A J 4 

 A Q 6 

 K 10 7 3 
HCP  Makeable contracts 

         NT 

 10   N 4 3 4 1 3 

9  3  S 4 4 4 2 3 

 18   E - - - - - 

    W - - - - - 
 

Board 15 : Dealer South : NS vulnerable 

West North East South 

   1 

1 Dbl Pass 2NT 

Pass 3NT All Pass 

 

South holds up the A until the third round and then arranges 

to set up his 9th trick in clubs by keeping West off lead – i.e. he 

concedes the first round of clubs to East.  There’s no point 

taking the diamond finesse because if that loses you are losing 

to West who has all the remaining spades to cash – we have to 

keep West off lead. 

 

Win A and lead a club towards dummy and cover whatever 

card West plays – losing the trick to East.  East has no more 

spades and even if he had it would mean the spades were 4-4. 

 

Now he makes 1 spade, 4 heats, 1 diamond and 3 clubs.   

3NT made. 

 

 

 Q 6 

 A K J 10 7 2 

 5 

 5 4 3 2 

 K 8 3  A J 9 

 9 8  4 3 

 A Q 9 4  K 10 8 7 

 K Q 9 8  A J 10 7 

 10 7 5 4 2 

 Q 6 5 

 J 6 3 2 

 6 
HCP  Makeable contracts 

         NT 

 10   N - - 1 - - 

14  13  S - - 1 - - 

 3   E 5 5 - 2 1 

    W 5 5 - 2 1 
 

Board 16 : Dealer West : EW vulnerable 

West North East South 

1NT 2 3NT Pass 

4 Pass 5 All Pass 

 

East’s 3NT is part of the ‘Lebensohl’ convention saying he has a 

raise to 3NT but does not have a heart stopper.  This is useful 

information for West who now knows that neither of them have 

a heart stopper and knows that 3NT won’t be made so he bids 

his lowest 4-card suit. 

 

West can pass 4 or raise it to 5 either decision will earn his 

side a good score because they will have avoided 3NT-2. 
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 A 9 8 2 

 K Q 9 6 

 A 9 

 A K J 

 K 5 4  Q J 10 7 3 

 J 10 5 2  - 

 J 8 6 5  10 3 2 

 8 3  9 7 5 4 2 

 6 

 A 8 7 4 3 

 K Q 7 4 

 Q 10 6 
 

HCP  Makeable contracts 

         NT 

 21   N 4 6 7 2 6 

5  3  S 4 5 7 2 6 

 11   E - - - - - 

    W - - - - - 
 

Board 17 : Dealer North : Love all 

West North East South 

 2NT Pass 3 

Pass 4 Pass 4NT 

Pass 5 Pass 5 

Pass 6 Pass 7 

All Pass 

 

North’s 4 is a ‘transfer break’ showing 4 card heart support 

and a chunky holding in clubs. 

 

5 shows 1 or 4 key cards.  5 asks if North has the Q. 

 

6 says ‘I have Q and also K. 

 

The only threat to declarer is a 4-0 trump break.  If East has all 

4 hearts then declarer cannot catch them but if West has all 4 

hearts then declarer can catch them provided he starts by 

playing the ace first. 

 

 

 10 6 

 A 6 5 

 Q 10 6 4 2 

 Q 3 2 

 K 7  9 3 2 

 K J 8 7 4 3  Q 2 

 8   A K J 3 

 108 6 4  A 9 7 5 

 A Q J 8 5 4 

 10 9 

 9 75 

 K J  

Board 18 : Dealer East : NS vulnerable 

West North East South 

  1NT 2 

2NT Pass 3 Pass 

3                 All Pass 

 

West wants to play in 3 and only 3 and he achieves this by 

bidding 2NT (Lebensohl) and then over East’s forced 3 he 

rebids 3 showing 0-10 and 6 hearts – a sign off. 

 

If West bids 3 originally over 2 he is showing 5 hearts and 

13+ points and forcing partner to bid game somewhere. 

 

 


